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1 If A and B are square matrices of order 3such that | Al =-1, | B =3, then det (3 AB) is equal

to
(@) -9 (B -27 () —81 (d) 81
0 ’—a x’-b
2 If a, b, c are distinct, then the value of x satisfying |x* +a 0 ¥ 4el=0
Pt +b x-c 0
(@) ¢ (0 a (c) b (@) 0
3 The equations x+y=2, 2x+2y =3 have
(7) no solution (B) aunique solution

(c) finitely many more than one solutions(d) infinitely many solutions

4 Which of the following is not correct in a given determinant of A, where A = [a;],
(a) Order of minor is less than order of the det (A)
(b) Minor of an element can never be equal to cofactor of the same element

(c) Value of a determinant is obtaind by multiplying elements of a row or column by corre-
sponding cofactors.

(d) Order of minors and cofactors of elements of A is same

5 If A and B are square matrix of order 1, then det (A.A) is equal to (A being a scalar)

(@) »detA (F) 1n1"detA () 2"detA (d) None of these
6 If A and B are square matrices of order 2, then det (A+B) = 0 is possible only when

(a) det(A)=0ordet(B)=0 (b) det(A)+det(B)=0

(€) det(A)=0and det(B)=0 (dy A+B=0
7 If A is square matrix such that A% = I, then A is equal to

(a) I B O ) A (d)y I+A

A W I‘*"13-|

8 If A=|ay a5 @y and C;is cnfactnrofﬂ”- in A, then the value of | Alis given by
Ay Ay Ayl
(@) 1363 + Apalap + 31503 (B)ayy0y + 3505 + @565
(€) €44 + ACyp + B30y (d)ajicyy + 85)Cy + 85105
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9 If A is square matrix of order 2, then det (adj A) =
(a) 1 () detA (c) (det AP (d) None of these

10 If A is non-singular matrix of order 3, then adj (adj A) =
(a) I (b 1Al c) A (d) (detA)A

11 | If Aisany of square matrix of order n, then A (adj A) is equal to
(@) 1 (B) 1Al (€ 0 d 1A1"

12 | Asquare matrix A is invertible iff det A is equal to
(@) 0 h 1 (c) non-zero (d)y -1

13 | If A, B, C, are three square matrices of the same order such that A = B + C, then det A is

equal to
(@) detB+detC (b) detB (c) detC (d) None of these
14 The value of det CD.SH 51nE}|—| is equal to
—sin®  cost'|
(@) cos2O (B 1 (c) 0O (d) None of these

15 | Which of the following is not correct?

(@) 1Al=1A"I, where A=[a,];,

() |KAl =K1 Al, where A=[a;l;,,

(c) If Aisaskew-symmetric matrix of odd order, then | Al =0

b d
@ +‘f fr‘

a+b  c+d
e+ f w+h

a ¢
4

16 | Determinant of the matrix A=[1-3-5]is
(@) 1+3+(-5) () 1x3x(-5) (c) notdefined (d) None of these

2 4
17 | Evaluate the determinant A= |—-1 3 0
0

4 1
X . , 3 3 2
18 | Find values of x for which = A
¥
AnNswers
1 C 2 D 3 A 4 B
5 C 6 D 7 C 8 D
9 B 10 D 11 B 12 C
13 D 14 B 15 D 16 C
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